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Nombre: Fecha: Puntuacion:
1070 = 5% 107 =

687,7 x 100 = 4x10° =

885+ 100D = 1004 =

100D = 1003 =

1009 = 3% 1004 =
1070 = 261,6x 100D =
—2x 10" = 100 =

1009 = 1 x10° =

100D = 1004 =

356,4 + 107D = 173,6+ 100D =

www.snowmath.com


https://www.snowmath.com

i =C [@ 60
fl. & B N
L=

U

Exponentes negativos de 10

Nombre:

1077 =0.1

687,7 x 10% = 0.06877
885 + 107 = 8850
1079 = 0.1

107 = 0.0001

1077 = 0.1
—2x10°=-2

107 = 0.001

1077 =0.1

356, 4+ 100D = 3564

Fecha: Puntuacion:

5% 10% = 500

4%x10° =4

107 = 0.0001

107 = 0.001

—3 % 107 = -0.0003
261,6 % 107" =26.16
107 = 0.0001
1x10°=1

10°% = 0.0001

173,6+ 10"V = 1736
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